Name

Date

Mr. Tallman

Do Now

Simplify the following usiﬁg rules of exponents. Leave vour answer in EXPONENTIAL FORM:
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Lesson #46: Converting Numbers From Standard Form to Scientific Notation -

o Scientific Notation is a way to shorten very large or very small numbers.

e Numbers in scientific notation have two parts:

1.

. A factor which is a power of 10.

A factor greater than or equal to 1, but less than 10 (the coefficient).

Examples:
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Example 1) Write the number 340,000 in scientific notation.

Steps for writing a whole number in scientific notation:

Steps Example

1) Put the decimal point after the first non-zero

digit starting from the left side of the number. g \L&CD&%
2) Drop all of the zeros after the last non-zero digit. ‘

This is your first factor. % . k{
3) Count how many places the decimal point <
moved. This number is your power of 10. ‘ LO

4) Write your number in scientific notation. '3 (_,( \ \Oﬁ;




Example 2) Express 0.000035 in scientific notation.
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Now You Try: Express the following numbers in scientific notation. Show work.
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Example 9) There are about 3,000,000 students attending school, kindergarten through 12th grade, in
New York. Express the number of students in scientific notation.
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Example 10) There are about 100 million smartphor US. In Scientific Notation, how many
smartphones are in the US?
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Now, You Try!
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11) What is 0,000,058 written in scientific notation?

A) 5.8 X 107° o~ S

aiatt
.8 X 107° a2
C) 5.8 x 10°

D) 5.8 x 10°



12) The length of the Amazon River in South America is 6,400 kilometers. What is this length written in
scientific notation?

A)64x102km %
@.4 x 103 km C[ Uy &OS

C) 6.4 x 10* km

D) 6.4 X 105 km

13) Which number is equivalent to .0000001: 10’ or 107? Explain your choice.
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14) A virus is viewed under a microscope. Its diameter is 0,0000002 meters. How would this length be

expressed in scientific notation?
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15) Sarah said that .00001 is bigger than .001 because the first number has more
digits to the right of the decimal point. Is Sarah correct? Explain using scientific
notation in your explanation. o
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